Missing Addends 1,000

Name: Score:

Fill in the missing addends

1,000 = 510 + D+ 90
1,000 = D + 250 + 360 1,000 = D +
1,000 = 415 + 505 + () 1,000 = 777 +
1,000 = D + 435 + 242 1,000 = D +
1,000 = D + 212 + 189 1,000 = D +
1,000 = 423 + 503 + () 1,000 = 688 +
1000 = )+ 225 + 386 1000 = J+
1,000 = D + 250 + 375 1,000 = D +

1,000 = 388 + 513 + D 1,000 = 145 +

1000 = )+ 444 + 112 1000 =+
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Answers

Fill in the missing addends

1,000 = 510 + + 90

1,000 = +
1,000 = 415 +
1,000 = +
1,000 = +
1,000 = 423 +
1,000 = +
1,000 = +

1,000 = 388 +

1,000 = +

250 + 360

1,000 = + 290

505 + 1,000 = 777 + 159

435 + 242 1,000 = + 225
212 + 189 1,000 = + 280
503 + 1,000 = 688 + 298
225 + 386 1,000 = + 508
250 + 375 1,000 = + 286

513 + 1,000 = 145 + 840

444 + 112
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